MN3ACF

Time : 2 Hrs. - Marks : 60
Instruction: 1) Question 1, 2 and 3 are compulsory.
2) From remaining questions attempt any two.
Q1 A) Read the following World map and answer the given questions. (05)
WHERE CHILDREN DIE?
(INFANT MORTALITY)
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Q- Death of 10 infants per 1000 population. :
< LG R T AR

1) What is the theme of the given map?

2) Name the cartographic technique used to represent the given theme.
3) Name the continent with highest death rate of infants.

4) Name the continent with lowest death rate of infants.

5) Give reasons for higher death rate of infants in South Asia.
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Q1 B) Match the following. ' (05)
A B
Physiographic Boundary Central Business District
Rural Landuse Model Rudolf Kjellen
Geo-politics Von Thunan
CBD Delhi
Administrative Town Himalayas
Q2 Solve the given problem of Nearest Neighbour Analysis.and Interpret your results. (10)
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Q3 Write Short Notes (Any two) ' (10)

1) The Concentric Zone Model
2) Isolated settlements

3) Physiographic boundaries
4) The circle of poverty

Q4 Give critical evaluation of the Rural Landuse Model in detail. (15)
Q5 Discuss the problems of urbanization with special reference to Indian cities (15)
Q6 Discuss the issues related to border disputes between India and China (15)

Q7 Define culture. Discuss the impact of globalisation on Indian culture. (15)
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